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”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.2” ”strong=”376|������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0” ”strong=”d/430|���������/���
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”3365|��������
x-morph=”OSHM:HVqj3fs”�����|strong=”4994” x-morph=”OSHM:HTe” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0.0.1” ”strong=”c/5315|�������/��
x-morph=”OSHM:HC/Ncbsc” ”strong=”5650|���/�������� x-morph=”OSHM:HNcmpc/Sp2ms”
”strong=”428|������� x-morph=”OSHM:HPdxcp” x-cantillationLevel=”0.0.0”
”strong=”2572|����������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0.0”
strong=”b/5869|��/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”0”� 14 ”strong=”2009|������� x-morph=”OSHM:HTm”
x-cantillationLevel=”1.1.0.0” ”strong=”3381|�������� x-morph=”OSHM:HVqp3fs”
”strong=”784|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1.0”
strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/8064”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1” ”strong=”c/398|�������/���
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.0.0.1” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”8147” x-morph=”OSHM:HAcmdc”
x-cantillationLevel=”1.0.0.0” ”strong=”8269|������� x-morph=”OSHM:HNcmpc”
”strong=”d/2572|�����������/�� x-morph=”OSHM:HTd/Acbpa” x-cantillationLevel=”1.0.0”
”strong=”d/7223|�����������/�� x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����/����������|strong=”2572”
x-morph=”OSHM:HAcbpc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”0.1” ”strong=”3365|��������
x-morph=”OSHM:HVqi3fs” ”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs”
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x-cantillationLevel=”0.0” strong=”b/5869|��/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”0”� � 15 ”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms”
x-cantillationLevel=”1.2.0.0” ”strong=”4397|��������� x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”�������������|strong=”452”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”3381|���� x-
morph=”OSHM:HVqv2ms” ”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”3372”
x-morph=”OSHM:HVqj2ms” x-cantillationLevel=”1.0” ”strong=”m/6440|�/�������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”1” strong=”c/6965|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.0” ”strong=”c/3381|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 16 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.2.3.0” ”strong=”3541|����� x-morph=”OSHM:HD”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.3” ”strong=”3282|������ x-morph=”OSHM:HC”
x-cantillationLevel=”1.2.2.0” strong=”834|������ a” x-morph=”OSHM:HTr”������������|strong=”7971”
x-morph=”OSHM:HVqp2ms” ”strong=”4397|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.2.2” ”strong=”l/1875|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2.1” ”+strong=”b/1176|������/��� x-morph=”OSHM:HR/Np”
”strong=”1176|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”6138|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”d/m/1097|�������/��/���
x-morph=”OSHM:HTi/R/D” ”strong=”369|���� x-morph=”OSHM:HTn”����������|strong=”430”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.0” ”strong=”b/3478|�����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1” ”strong=”l/1875|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”b/1697|��/������/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”1” strong=”l/3651|���/���
c” x-morph=”OSHM:HR/D” x-cantillationLevel=”0.0.0.1” ”strong=”d/4296|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”���������|strong=”5927” x-morph=”OSHM:HVqp2ms”
”strong=”8033|������ x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”�������|strong=”3381” x-
morph=”OSHM:HVqi2ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC”������|strong=”4191”
x-morph=”OSHM:HVqa” ”strong=”4191|�������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0”� 17 ”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.1.1” ”strong=”k/1697|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0”
� strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”1696”
x-morph=”OSHM:HVpp3ms” ”strong=”452|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” strong=”c/4427|����������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”3088|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”8478|�/���������� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2”



10 CONTENTS

� ”strong=”b/8141|�������/��� x-morph=”OSHM:HR/Ncfsc” ”strong=”8147|����������
x-morph=”OSHM:HAcfda” x-cantillationLevel=”1.1” ”strong=”l/3088|��������/��
x-morph=”OSHM:HR/Np” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������������|strong=”3092”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0” ”strong=”3808|���� x-morph=”OSHM:HTn”�������|strong=”1961”
x-morph=”OSHM:HVqp3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” strong=”1121|����� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 18 strong=”c/3499|������/�� a” x-morph=”OSHM:HC/Ncmsc”
x-cantillationLevel=”1.0.0” ”strong=”1697|��������� x-morph=”OSHM:HNcmpc”
”strong=”274|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”6213|�������
a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn”��������|strong=”1992” x-morph=”OSHM:HPp3mp”
”strong=”3789|���������� x-morph=”OSHM:HVqsmpa” x-cantillationLevel=”0.0.1”
strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”5612 a” x-
morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0.0” ”strong=”1697|���������
x-morph=”OSHM:HNcmpc” ”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”l/4428|��������/�� x-morph=”OSHM:HR/Ncmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�2 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”

”strong=”b/5927|���������/��� x-morph=”OSHM:HR/Vhc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”853|���

x-morph=”OSHM:HTo”�������������|strong=”452” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”b/5591|��������/���� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1” ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”452|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”c/477|����������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/1537”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”� 2 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”452|����������� x-morph=”OSHM:HNp”
”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”477” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” ”strong=”3427|�����
x-morph=”OSHM:HVqv2ms”�����|strong=”4994” x-morph=”OSHM:HTe”
”strong=”6311|���� x-morph=”OSHM:HD” x-cantillationLevel=”1.2.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”7971|���/�������� x-morph=”OSHM:HVqp3ms/Sp1cs”
”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”1008+” x-morph=”OSHM:HNp”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”477|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”2416|��� a” x-morph=”OSHM:HAamsa”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”c/2416|����/�� a” x-morph=”OSHM:HC/Aamsa”���/��������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”1.0” strong=”518|���
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a” x-morph=”OSHM:HC”���/����������|strong=”5800 a” x-morph=”OSHM:HVqi1cs/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/3381|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”+strong=”1008|������ x-morph=”OSHM:HNp”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 3 ”strong=”c/3318|���������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”1121|������ a” x-morph=”OSHM:HNcmpc”�����������/���|strong=”d/5030”
x-morph=”OSHM:HTd/Ncmpa” strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”1008+”
x-morph=”OSHM:HNp”�����|strong=”1008” x-morph=”OSHM:HNp” x-cantillationLevel=”1.3.0”
”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”477” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.3” ”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”i/3045|����������/�� x-morph=”OSHM:HTi/Vqp2ms”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.1” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”3947|�������
x-morph=”OSHM:HVqrmsa” ”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”113”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” strong=”7218|��/������� a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0.0” ”strong=”1571|���� x-morph=”OSHM:HTa”�������|strong=”589”
x-morph=”OSHM:HPp1cs” ”strong=”3045|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0” ”strong=”2814|��������� x-morph=”OSHM:HVhv2mp”
x-cantillationLevel=”0”� 4 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” ”strong=”452|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.1” ”strong=”477|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” � ”strong=”3427|�����
x-morph=”OSHM:HVqv2ms”�����|strong=”4994” x-morph=”OSHM:HTe”
”strong=”6311|���� x-morph=”OSHM:HD” x-cantillationLevel=”1.2.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”7971|���/�������� x-morph=”OSHM:HVqp3ms/Sp1cs”
”strong=”3405|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1”
strong=”2416|��� a” x-morph=”OSHM:HAamsa”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”c/2416|����/�� a” x-morph=”OSHM:HC/Aamsa”���/��������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”1.0” strong=”518|���
a” x-morph=”OSHM:HC”���/����������|strong=”5800 a” x-morph=”OSHM:HVqi1cs/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”3405|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 5 ”strong=”c/5066|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”�����������/���|strong=”d/5030”
x-morph=”OSHM:HTd/Ncmpa” strong=”834|������ a” x-morph=”OSHM:HTr”��������/�����|strong=”b/3405”
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.3.0” ”strong=”413|��� x-
morph=”OSHM:HR”�����������|strong=”477” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.3” ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2”
”strong=”i/3045|����������/�� x-morph=”OSHM:HTi/Vqp2ms” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”d/3117|������/��
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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.1” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”3947|�������
x-morph=”OSHM:HVqrmsa” ”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”113”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” strong=”7218|��/������� a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0.0” ”strong=”1571|���� x-morph=”OSHM:HTa”�������|strong=”589”
x-morph=”OSHM:HPp1cs” ”strong=”3045|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0” ”strong=”2814|��������� x-morph=”OSHM:HVhv2mp”
x-cantillationLevel=”0”� 6 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” ”strong=”452|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” ”strong=”3427|�����
x-morph=”OSHM:HVqv2ms”�����|strong=”4994” x-morph=”OSHM:HTe”
”strong=”6311|���� x-morph=”OSHM:HD” x-cantillationLevel=”1.2.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”7971|���/�������� x-morph=”OSHM:HVqp3ms/Sp1cs”
”strong=”d/3383|�/�����������/�� x-morph=”OSHM:HTd/Np/Sd” x-
cantillationLevel=”1.2” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1” strong=”2416|��� a” x-morph=”OSHM:HAamsa”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”c/2416|����/�� a” x-morph=”OSHM:HC/Aamsa”���/��������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”1.0” strong=”518|���
a” x-morph=”OSHM:HC”���/����������|strong=”5800 a” x-morph=”OSHM:HVqi1cs/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”8147|����/������ x-morph=”OSHM:HAcmdc/Sp3mp”
x-cantillationLevel=”0”� 7 ”strong=”c/2572|�����������/�� x-morph=”OSHM:HC/Acbpa”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0.0”
strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc” ”strong=”d/5030|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0” ”strong=”1980|���������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.1” ”strong=”c/5975|�����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”m/5048|�������/�� x-morph=”OSHM:HR/R”
x-cantillationLevel=”1.0” ”strong=”m/7350|�������/�� x-morph=”OSHM:HR/Aamsa”
x-cantillationLevel=”1” ”strong=”c/8147|����/������/�� x-morph=”OSHM:HC/Acmdc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”5975|�������� x-morph=”OSHM:HVqp3cp”
strong=”5921|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/3383”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”� 8 ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”452|����������� x-morph=”OSHM:HNp”
”strong=”853|��� x-morph=”OSHM:HTo”��/�����������|strong=”155”
x-morph=”OSHM:HNcfsc/Sp3ms” ”strong=”c/1563|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”c/5221|��������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/4325”
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b” x-morph=”OSHM:HC/Ncmpc” ”strong=”784|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” ”strong=”c/6504|�����������/�� x-morph=”OSHM:HC/Vhw3mp”
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x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.3” ”strong=”6435|����
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x-cantillationLevel=”1.0” ”+strong=”1008|������ x-morph=”OSHM:HNp”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” x-cantillationLevel=”0.2.1.0” � ”strong=”5927|������
x-morph=”OSHM:HVqrmsa” ”strong=”b/1870|��������/�� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0.2.1” ”strong=”c/5288|���������/�� x-morph=”OSHM:HC/Ncmpa”
strong=”6996|���������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0.2.0”
”strong=”3318|�������� x-morph=”OSHM:HVqp3cp” strong=”4480|���
a” x-morph=”OSHM:HR”�����/���|strong=”d/5892 b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.2” ”strong=”c/7046|�������������/�� x-morph=”OSHM:HC/Vtw3mp”���/��|strong=”b”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”5927|������ x-morph=”OSHM:HVqv2ms”
”strong=”7142|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0”
”strong=”5927|������ x-morph=”OSHM:HVqv2ms” ”strong=”7142|�������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� 24 ”strong=”c/6437|�������/��
x-morph=”OSHM:HC/Vqw3ms” strong=”310|��/�������� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”c/7200|�/��������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/7043|�/���������/��� x-morph=”OSHM:HC/Vpw3ms/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”b/8034|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/3318|����������/�� x-morph=”OSHM:HC/Vqw3fp” ”strong=”8147|����������
x-morph=”OSHM:HAcfda” ”strong=”1677|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.2.0” strong=”4480|��� a” x-morph=”OSHM:HR”�������/���|strong=”d/3293
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2” ”strong=”c/1234|��������������/��
x-morph=”OSHM:HC/Vpw3fp” ”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”705|������������ x-morph=”OSHM:HAcbpa”
”strong=”c/8147|�������/�� x-morph=”OSHM:HC/Acmdc” x-cantillationLevel=”0.0”
”strong=”3206|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
25 ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”�����|strong=”2022”
x-morph=”OSHM:HNcmsc” ”strong=”d/3760|���������/�� x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1” ”strong=”c/m/8033|������/��/�� x-morph=”OSHM:HC/R/D”
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x-cantillationLevel=”0.0” ”strong=”7725|����� x-morph=”OSHM:HVqp3ms”
”strong=”8111|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�3 ”strong=”c/3088|��������/�� x-morph=”OSHM:HC/Np” strong=”1121|����

a” x-morph=”OSHM:HNcmsc”���������|strong=”256” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” strong=”4427|������� a” x-morph=”OSHM:HVqp3ms”

strong=”5921|��� a” x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”b/8111|�����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2” ”strong=”b/8141|�������/���
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.1.0” ”strong=”8083|���������
x-morph=”OSHM:HAcfsa” ”strong=”6240|��������� x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”1.1” ”strong=”l/3092|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”c/4427|����������/�� a” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0”
”strong=”8147|�������� x-morph=”OSHM:HAcfda”����������|strong=”6240”
x-morph=”OSHM:HAcfsa” ”strong=”8141|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 2 strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqw3ms”
strong=”d/7451|����/�� a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.2.0”
strong=”b/5869|�������/��� a” x-morph=”OSHM:HR/Ncbdc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”7535|���� x-
morph=”OSHM:HTa” x-cantillationLevel=”1.1” ”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”k/1|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”1.0”
”strong=”c/k/517|��/�����/��/�� x-morph=”OSHM:HC/R/Ncfsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5493|��������/�� x-morph=”OSHM:HC/Vhw3ms”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”4676”
x-morph=”OSHM:HNcfsc” strong=”d/1168|�������/�� a” x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”1|�/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
3 ”strong=”7535|���� x-morph=”OSHM:HTa” x-cantillationLevel=”1.0.0.1”
strong=”b/2403|���������/��� b” x-morph=”OSHM:HR/Ncfpc” x-cantillationLevel=”1.0.0.0”
”strong=”3379|���������� x-morph=”OSHM:HNp” strong=”1121|�����
a” x-morph=”OSHM:HNcmsc”�������|strong=”5028” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”2398”
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”1692|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” ”strong=”3808|��� x-
morph=”OSHM:HTn”�����|strong=”5493” x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”0.0” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� � 4 ”strong=”c/4338|��������/�� x-morph=”OSHM:HC/Np”
”strong=”4428|������� x-morph=”OSHM:HNcmsc”��������|strong=”4124”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”1961|������
x-morph=”OSHM:HVqp3ms” ”strong=”5349|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vhq3ms”
”strong=”l/4428|�������/�� x-morph=”OSHM:HR/Ncmsc”������������|strong=”3478”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”3967|�����
x-morph=”OSHM:HAcbsa”�������|strong=”505” x-morph=”OSHM:HAcbsa”
strong=”3733|�������� c” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
”strong=”c/3967|������/�� x-morph=”OSHM:HC/Acbsa” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0.0” strong=”352|��������
a” x-morph=”OSHM:HNcmpa” ”strong=”6785|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 5 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”k/4194|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”256|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/6586|����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc”��������|strong=”4124” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”b/4428|�������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
6 ”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0.0”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”3088|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”1.0” ”strong=”m/8111|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” strong=”c/6485|���������/�� a” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 7 ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1.1” ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��� x-morph=”OSHM:HR”�������������|strong=”3092”
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1.1” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”6586|�������� x-morph=”OSHM:HVqp3ms”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1”
”strong=”i/3212|�������/�� x-morph=”OSHM:HTi/Vqi2ms” ”strong=”854|�/������
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”4124” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.0” ”strong=”l/4421|�����������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”5927|�������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.1”
”strong=”3644|���/������� x-morph=”OSHM:HR/Sp1cs” ”strong=”3644|��/������
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.0.0” strong=”k/5971|�/������/���
a” x-morph=”OSHM:HR/Ncmsc/Sp1cs” strong=”k/5971|��/������/�� a”
x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-cantillationLevel=”0.0” strong=”k/5483|�/������/���
b” x-morph=”OSHM:HR/Ncmpc/Sp1cs” strong=”k/5483|��/�������/���
b” x-morph=”OSHM:HR/Ncmpc/Sp2ms” x-cantillationLevel=”0”� 8 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1” ”strong=”335|���
x-morph=”OSHM:HTi”�����|strong=”2088” x-morph=”OSHM:HPdxms” ”strong=”d/1870|��������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0” ”strong=”5927|��������
x-morph=”OSHM:HVqi1cp” x-cantillationLevel=”1” ”strong=”c/559|��������/��



20 CONTENTS

x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1” ”strong=”1870|��������
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”0.0” strong=”4057|���������
b” x-morph=”OSHM:HNcmsc” ”strong=”123|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 9 ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”4428|������� x-morph=”OSHM:HNcmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” ”strong=”c/4428|������/�� x-morph=”OSHM:HC/Ncmsc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” 2 BHS has been faithful
to the Leningrad Codex where there might be a question of the validity of the
form and we keep the same form as BHS. ”strong=”c/4428|�������/�� x-
morph=”OSHM:HC/Ncmsc” ”strong=”123|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”c/5437|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.1” ”strong=”1870|�������� x-morph=”OSHM:HNcbsc”
x-cantillationLevel=”1.0” ”strong=”7651|��������� x-morph=”OSHM:HAcmsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�������|strong=”1961”
x-morph=”OSHM:HVqp3ms” ”strong=”4325|������ x-morph=”OSHM:HNcmpa”
”strong=”l/4264|���������/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.0.0”
”strong=”c/l/929|���������/��/�� x-morph=”OSHM:HC/Rd/Ncfsa” x-
cantillationLevel=”0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”b/7272|����/�������/��� x-morph=”OSHM:HR/Ncfdc/Sp3mp”
x-cantillationLevel=”0”� 10 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”162|������� x-morph=”OSHM:HTj” x-cantillationLevel=”0.2” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”7121” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
”strong=”l/7969|�����������/�� x-morph=”OSHM:HR/Acmsc” x-cantillationLevel=”0.1.0”
3 We read one or more accents in L differently than BHS. Often this notation in-
dicates a typographical error in BHS. ”strong=”d/4428|����������/�� x-
morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”0.1” ”strong=”l/5414|����/�� x-morph=”OSHM:HR/Vqc”
”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.0”
”strong=”b/3027|���/��� x-morph=”OSHM:HR/Ncbsc”��������|strong=”4124”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 11 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3092|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”i/369|�����/�� x-morph=”OSHM:HTi/Tn”
”strong=”6311|����� x-morph=”OSHM:HD” ”strong=”5030|������� x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1” ”strong=”c/1875|�����������/��
x-morph=”OSHM:HC/Vqh1cp” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”m/853|��/�����/��
x-morph=”OSHM:HR/To/Sp3ms” x-cantillationLevel=”1” strong=”c/6030|������/���
b” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.2.0.1” ”strong=”259|������
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x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.2.0.0” ”strong=”m/5650|��������/��
x-morph=”OSHM:HR/Ncmpc” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.2” ”strong=”6311|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”477|����������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”8202”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”834|������ a”
x-morph=”OSHM:HTr”�������|strong=”3332” x-morph=”OSHM:HVqp3ms”
”strong=”4325|������ x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”3027” x-morph=”OSHM:HNcbdc”
”strong=”452|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
12 ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
”strong=”3092|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”3426|����� x-morph=”OSHM:HTm” ”strong=”853|��/�����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.0” ”strong=”1697|������
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3381|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0.1”
”strong=”4428|������� x-morph=”OSHM:HNcmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”c/3092|�����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”c/4428|�������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”123|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 13 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”477|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4428” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”4100|��� x-morph=”OSHM:HTi”�/�����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
”strong=”c/l|��/���/�� x-morph=”OSHM:HC/R/Sp2fs” x-cantillationLevel=”1.2”
”strong=”3212|����� x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”5030” x-
morph=”OSHM:HNcmpc” ”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”c/413|���/�� x-morph=”OSHM:HC/R”����������|strong=”5030”
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”1.0” ”strong=”517|��/������
x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|���/� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.2.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”408|���� x-morph=”OSHM:HTn” x-cantillationLevel=”0.1.2” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”7121” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
”strong=”l/7969|�����������/�� x-morph=”OSHM:HR/Acmsc” x-cantillationLevel=”0.1.0”
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x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/d/5383|��������/���/��
x-morph=”OSHM:HC/Td/Vqrmsa” x-cantillationLevel=”0.1” ”strong=”935|�����
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.1” ”strong=”l/3947|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”8147” x-morph=”OSHM:HAcmdc”
”strong=”3206|�/������� x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.0.0”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”l/5650|���������/�� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0”�
2 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��/������
x-morph=”OSHM:HR/Sp3fs” ”strong=”477|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”4100|���� x-morph=”OSHM:HTi” strong=”6213|���������
a” x-morph=”OSHM:HVqi1cs”��/�����|strong=”l” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1.2” ”strong=”5046|���������� x-morph=”OSHM:HVhv2fs”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1” ”strong=”4100|���
x-morph=”OSHM:HTi”������|strong=”3426” x-morph=”OSHM:HTm”��/��|strong=”l/3588
a” x-morph=”OSHM:HR/Sp2fs” x-wType=”x-ketiv” 5 strong=”b/1004|�������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1.1” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”l/8198|���/���������/�� x-morph=”OSHM:HR/Ncfsc/Sp2ms”
”strong=”3605|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0”
strong=”b/1004|�������/��� b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1”
strong=”3588|����� b” x-morph=”OSHM:HC” x-cantillationLevel=”0.0” strong=”518|���
b” x-morph=”OSHM:HC”���������|strong=”610” x-morph=”OSHM:HNcmsc”
”strong=”8081|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
3 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”
”strong=”3212|������ x-morph=”OSHM:HVqv2fs” ”strong=”7592|��������
x-morph=”OSHM:HVqv2fs”��/����|strong=”l” x-morph=”OSHM:HR/Sp2fs”
”strong=”3627|�������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.0”
strong=”4480|��� a” x-morph=”OSHM:HR”�����/���|strong=”d/2351”
5+ ”strong=”l|��/�����/� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”m/854|����/��
x-morph=”OSHM:HR/R” x-cantillationLevel=”1.0” ”strong=”3605|���� x-
morph=”OSHM:HNcmsc”��/����|strong=”7934” x-morph=”OSHM:HAampc/Sp2fs”
x-wType=”x-ketiv” 6 7 Adaptations to a Qere which L and BHS, by their de-
sign, do not indicate. ”strong=”3627|�������� x-morph=”OSHM:HNcmpa”
”strong=”7386|������� x-morph=”OSHM:HAampa” x-cantillationLevel=”0.0”
”strong=”408|��� x-morph=”OSHM:HTn”�������������|strong=”4591”
x-morph=”OSHM:HVhj2fs” x-cantillationLevel=”0”� 4 ”strong=”c/935|�����/��
x-morph=”OSHM:HC/Vqq2fs” x-cantillationLevel=”1.2.1” ”strong=”c/5462|����������/��
x-morph=”OSHM:HC/Vqp2fs” strong=”d/1817|��������/�� c” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.2.0” ”strong=”1157|��/�������� x-morph=”OSHM:HR/Sp2fs”
”strong=”c/1157|�����/�� x-morph=”OSHM:HC/R”��/���������|strong=”1121
a” x-morph=”OSHM:HNcmpc/Sp2fs” x-cantillationLevel=”1.2” ”strong=”c/3332|����������/��
x-morph=”OSHM:HC/Vqp2fs” x-cantillationLevel=”1.1” strong=”5921|����
a” x-morph=”OSHM:HR” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/3627”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”d/428|�������/��
x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”1” ”strong=”c/d/4392|�������/��/��
x-morph=”OSHM:HC/Td/Aamsa” x-cantillationLevel=”0.0” ”strong=”5265|�����������
x-morph=”OSHM:HVhi2fs” x-cantillationLevel=”0”� 5 ”strong=”c/3212|���������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.2.0” ”strong=”m/854|��/�����/���
x-morph=”OSHM:HR/R/Sp3ms” x-cantillationLevel=”1.2” ”strong=”c/5462|����������/��
x-morph=”OSHM:HC/Vqw3fs” strong=”d/1817|�������/�� c” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”1157|��/�������� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.0” ”strong=”c/1157|������/�� x-morph=”OSHM:HC/R”
strong=”1121|��/������� a” x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1”
”strong=”1992|���� x-morph=”OSHM:HPp3mp” x-cantillationLevel=”0.0.0”
”strong=”5066|����������� x-morph=”OSHM:HVhrmpa” ”strong=”413|��/������
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3fs” ”strong=”3332|����� x-morph=”OSHM:HVhrfsa”
x-wType=”x-ketiv” 8 � 6 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.2.0” � ”strong=”k/4390|�������/��� x-morph=”OSHM:HR/Vqc”
”strong=”d/3627|��������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.2”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”413|���
x-morph=”OSHM:HR”���/������|strong=”1121 a” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”1.2.1” ”strong=”5066|�/���������� x-morph=”OSHM:HVhv2ms/Sh”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0” ”strong=”3627|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”3627|�������
6+ ”strong=”7934|��/������������/��� x-morph=”OSHM:HAampc/Sp2fs” x-

cantillationLevel=”1”
7a
8+ ”strong=”3332|�������������� x-morph=”OSHM:HVhrfsa” x-

cantillationLevel=”0”



28 CONTENTS

x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/5975|���������/���
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0” ”strong=”d/8081|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 7 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.2.1” ”strong=”c/5046|��������/��
x-morph=”OSHM:HC/Vhw3fs” x-cantillationLevel=”1.2.0” ”strong=”l/376|������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1” ”strong=”3212|������ x-morph=”OSHM:HVqv2fs”
x-cantillationLevel=”1.1.0” ”strong=”4376|�������� x-morph=”OSHM:HVqv2fs”
”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/8081”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”c/7999|����������/��
a” x-morph=”OSHM:HC/Vpv2fs” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/����|strong=”5386” x-morph=”OSHM:HNcmsc/Sp2fs”
x-wType=”x-ketiv” 9 strong=”c/859|������/�� c” x-morph=”OSHM:HC/Pp2fs”
strong=”1121|��/��� a” x-morph=”OSHM:HNcmpc/Sp2fs” x-wType=”x-
ketiv” 10 ”strong=”2421|��������� x-morph=”OSHM:HVqi2fs” x-cantillationLevel=”0.0”
”strong=”b/3498|��������/��� x-morph=”OSHM:HRd/VNrmsa” x-cantillationLevel=”0”�
� 8 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1.0” strong=”c/5674|���������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”477|���������� x-morph=”OSHM:HNp”
”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”7766” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”c/8033|�����/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.1.0” ”strong=”802|�������� x-morph=”OSHM:HNcfsa”
strong=”1419|��������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.1”
”strong=”c/2388|��������/�� x-morph=”OSHM:HC/Vhw3fs”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0” ”strong=”l/398|�����/��
x-morph=”OSHM:HR/Vqc”�������|strong=”3899” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.0” ”strong=”m/1767|�����/�� x-morph=”OSHM:HR/Ncmsc”
strong=”5674|��/������ a” x-morph=”OSHM:HVqc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”5493|������ x-morph=”OSHM:HVqi3ms” ”strong=”8033|�/�������
x-morph=”OSHM:HD/Sd” x-cantillationLevel=”0.0” ”strong=”l/398|�����/��
x-morph=”OSHM:HR/Vqc”�������|strong=”3899” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 9 ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”��/��������|strong=”376”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1.2” ”strong=”2009|������
x-morph=”OSHM:HTm”�����|strong=”4994” x-morph=”OSHM:HTe” ”strong=”3045|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0.0” ”strong=”376|������
x-morph=”OSHM:HNcmsc” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”6918|�������� x-morph=”OSHM:HAamsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1”
9+ ”strong=”5386|��/����������/��� x-morph=”OSHM:HNcmsc/Sp2fs” x-

cantillationLevel=”1”
10+ strong=”c/1121|��/�������/����/��� a” x-morph=”OSHM:HC/Ncmpc/Sp2fs” x-
cantillationLevel=”0.1”
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strong=”5674|������ a” x-morph=”OSHM:HVqrmsa” strong=”5921|���/������
a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0” ”strong=”8548|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 10 strong=”6213|���������
a” x-morph=”OSHM:HVqh1cp”������|strong=”4994” x-morph=”OSHM:HTj”
”strong=”5944|�������� x-morph=”OSHM:HNcfsc”������|strong=”7023”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” strong=”6996|���������
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.1” strong=”c/7760|��������/��
a” x-morph=”OSHM:HC/Vqi1cp” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.0.0” ”strong=”4296|�������
x-morph=”OSHM:HNcfsa” ”strong=”c/7979|���������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/3678|�������/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”c/4501|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1”
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqp3ms” x-cantillationLevel=”0.0.0”
”strong=”b/935|��/����/��� x-morph=”OSHM:HR/Vqc/Sp3ms” ”strong=”413|���/������
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0” ”strong=”5493|�������
x-morph=”OSHM:HVqi3ms” ”strong=”8033|�/������� x-morph=”OSHM:HD/Sd”
x-cantillationLevel=”0”� 11 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”8033|�/�������
x-morph=”OSHM:HD/Sd” x-cantillationLevel=”1” ”strong=”c/5493|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��� x-morph=”OSHM:HR”���������/���|strong=”d/5944”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” ”strong=”c/7901|����������/��
x-morph=”OSHM:HC/Vqw3ms”�/��������|strong=”8033” x-morph=”OSHM:HD/Sd”
x-cantillationLevel=”0”� 12 ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”1522”
x-morph=”OSHM:HNp” ”strong=”5288|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”7121|������ x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”1.0” ”strong=”l/7767|�������������/�� x-morph=”OSHM:HRd/Ngfsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1”
”strong=”c/7121|��������/�� x-morph=”OSHM:HC/Vqw3ms”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1” ”strong=”c/5975|���������/���
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.0” ”strong=”l/6440|�/������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”0”� 13 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.3.2” ”strong=”559|����� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”413|���/����� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.3.1” ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”2729|���������� x-morph=”OSHM:HVqp2fs” x-cantillationLevel=”1.3.0.0”
� ”strong=”413|����/����� x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.3.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������/���|strong=”d/2731”
x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
x-cantillationLevel=”1.3” ”strong=”4100|���� x-morph=”OSHM:HTi” x-cantillationLevel=”1.2.0”
strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.2” ”strong=”i/3426|�����/��
x-morph=”OSHM:HTi/Tm” ”strong=”l/1696|������/�� x-morph=”OSHM:HR/Vpc”���/���|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.1.0” ”strong=”413|���
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x-morph=”OSHM:HR”��������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” strong=”176|���� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”������|strong=”8269” x-morph=”OSHM:HNcmsc”
strong=”d/6635|�������/�� a” x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1”
”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc” strong=”5971|�/������
b” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”595|��������
x-morph=”OSHM:HPp1cs” ”strong=”3427|��������� x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”0”� 14 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1” ”strong=”c/4100|����/�� x-morph=”OSHM:HC/Ti”
x-cantillationLevel=”1.0” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1522|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.1” ”strong=”61|������ x-morph=”OSHM:HD” x-
cantillationLevel=”0.0.0” strong=”1121|����� a” x-morph=”OSHM:HNcmsa”
”strong=”369|����� x-morph=”OSHM:HTn”��/����|strong=”l” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”c/376|��/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp3fs”
”strong=”2204|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0”�
15 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0”
”strong=”7121|����� x-morph=”OSHM:HVqv2ms”��/����|strong=”l” x-
morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”c/7121|��������/��
x-morph=”OSHM:HC/Vqw3ms”��/����|strong=”l” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”c/5975|���������/��� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.0” ”strong=”b/6607|�������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� 16 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1” ”strong=”l/4150|��������/�� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.1.0”
”strong=”k/6256|����/��� x-morph=”OSHM:HRd/Ncbsa” strong=”2416|�������
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.1” strong=”859|��� b”
x-morph=”OSHM:HPp2fs” x-wType=”x-ketiv” 11 ”strong=”2263|��������
x-morph=”OSHM:HVqrfsa” strong=”1121|����� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.1.1” ”strong=”408|��� x-morph=”OSHM:HTn”��/�������|strong=”113”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1.0” ”strong=”376|������
x-morph=”OSHM:HNcmsc” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.1” ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”3576”
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19+ strong=”c/2094|��/���������/���/�����/� b” x-
morph=”OSHM:HC/Vhp3ms/Sp3ms” x-cantillationLevel=”1.0”
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13 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”
”strong=”3212|������ x-morph=”OSHM:HVqv2mp” ”strong=”c/7200|������/��
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”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0”
”strong=”853|��� x-morph=”OSHM:HTo”����/��������|strong=”5869
a” x-morph=”OSHM:HNcbdc/Sp3mp” x-cantillationLevel=”0.2” ”strong=”c/7200|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” x-cantillationLevel=”0.0” ”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”8111|���������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”0”� 21 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”4428|������� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”477”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”k/7200|��/������/���
x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”853|�/������
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1” ”strong=”i/5221|�������/��
x-morph=”OSHM:HTi/Vhi1cs” ”strong=”5221|������� x-morph=”OSHM:HVhi1cs”
x-cantillationLevel=”0.0” ”strong=”1|�/����� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� 22 ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5221|�������
x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”1.1” strong=”i/834|�������/��
a” x-morph=”OSHM:HTi/Tr” ”strong=”7617|��������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”1.0.0” ”strong=”b/2719|���/�������/��� x-morph=”OSHM:HR/Ncfsc/Sp2ms”
”strong=”c/b/7198|���/��������/��/��� x-morph=”OSHM:HC/R/Ncfsc/Sp2ms”
x-cantillationLevel=”1.0” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”5221|������� x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”1”
strong=”7760|������ a” x-morph=”OSHM:HVqv2ms” ”strong=”3899|������
x-morph=”OSHM:HNcbsa” ”strong=”c/4325|������/�� x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”0.1.1.0” ”strong=”l/6440|����/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”0.1.1” ”strong=”c/398|����������/�� x-morph=”OSHM:HC/Vqj3mp”
x-cantillationLevel=”0.1.0” ”strong=”c/8354|����������/�� x-morph=”OSHM:HC/Vqj3mp”
x-cantillationLevel=”0.1” ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqi3mp”
x-cantillationLevel=”0.0” ”strong=”413|��� x-morph=”OSHM:HR”����/��������|strong=”113”
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0”� 23 strong=”c/3739|���������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2.1.0” ”strong=”3740|������� x-morph=”OSHM:HNcfsa”
strong=”1419|��������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.2.1”
”strong=”c/398|�����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.2.0”
”strong=”c/8354|�����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.2”
”strong=”c/7971|�/�����������/��� x-morph=”OSHM:HC/Vpw3ms/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”����/���������|strong=”113”
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”���������|strong=”3254” x-morph=”OSHM:HVqp3cp”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”1416|����������
x-morph=”OSHM:HNcmpc” ”strong=”758|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”l/935|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”b/776|������/��� x-morph=”OSHM:HR/Ncbsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 24 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
strong=”310|������� a” x-morph=”OSHM:HR”�����|strong=”3651 c”
x-morph=”OSHM:HD” x-cantillationLevel=”1.1” ”strong=”c/6908|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0” ”+strong=”1130|����
x-morph=”OSHM:HNp”�������|strong=”1130” x-morph=”OSHM:HNp” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc”�������|strong=”758” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
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x-morph=”OSHM:HNcmsc”���/��������|strong=”4264” x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1” strong=”c/6696|�������/�� a” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”8111”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 25 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”7458|������ x-morph=”OSHM:HNcmsa”
strong=”1419|�������� a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1.0”
”strong=”b/8111|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm” x-cantillationLevel=”1.0”
strong=”6696|������� a” x-morph=”OSHM:HVqrmpa” strong=”5921|��/������
a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”5704|����
x-morph=”OSHM:HR” ”strong=”1961|������� x-morph=”OSHM:HVqc” strong=”7218|�����
a” x-morph=”OSHM:HNcmsc”��������|strong=”2543” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.1.0” ”strong=”b/8084|����������/��� x-morph=”OSHM:HR/Acbpa”
”strong=”3701|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/7255|������/�� x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”0.0.0”
”strong=”d/6894|�����/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”2755|���
x-morph=”OSHM:HNcmsc” x-wType=”x-ketiv”�����|strong=”3123” x-morph=”OSHM:HNcfpa”
x-wType=”x-ketiv” 20 21 Adaptations to a Qere which L and BHS, by their
design, do not indicate. 22 ”strong=”b/2568|���������/��� x-
morph=”OSHM:HRd/Acmsa”�������|strong=”3701” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 26 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”5674|������ a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/2346”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”c/802|��������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.1.1” ”strong=”6817|��������
x-morph=”OSHM:HVqp3fs” ”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1” ”strong=”3467|�/���������� x-morph=”OSHM:HVhv2ms/Sh”
x-cantillationLevel=”0.0” ”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
27 ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
”strong=”408|��� x-morph=”OSHM:HTn”��/����������|strong=”3467”
x-morph=”OSHM:HVhj3ms/Sp2fs” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”m/370|������/�� x-morph=”OSHM:HR/Ti”
x-cantillationLevel=”1.0” ”strong=”3467|��/����������� x-morph=”OSHM:HVhi1cs/Sp2fs”
x-cantillationLevel=”1” strong=”i/4480|���/�� a” x-morph=”OSHM:HTi/R”�������/���|strong=”d/1637”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” strong=”176|����
a” x-morph=”OSHM:HC” strong=”4480|��� a” x-morph=”OSHM:HR”�������/���|strong=”d/3342”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 28 ”strong=”c/559|��������/��
20+ ”strong=”1686|��������������������� x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.0”
21a
22+ A single word in the text has been divided for exegesis.
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x-morph=”OSHM:HC/Vqw3ms”��/����|strong=”l” x-morph=”OSHM:HR/Sp3fs”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”4100|��� x-morph=”OSHM:HTi”��/�����|strong=”l” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.1.2” ”strong=”d/802|��������/�� x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”0.1.1.0”
”strong=”559|�������� x-morph=”OSHM:HVqp3fs” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1.1” ”strong=”5414|�������
x-morph=”OSHM:HVqv2fs” ”strong=”853|��� x-morph=”OSHM:HTo”���/������|strong=”1121
a” x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”0.1.0” ”strong=”c/398|����/��������/��
x-morph=”OSHM:HC/Vqi1cp/Sp3ms” ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�/�������|strong=”1121
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”398|�������
x-morph=”OSHM:HVqi1cp” ”strong=”4279|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 29 ”strong=”c/1310|�����������/�� x-morph=”OSHM:HC/Vpw1cp”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”1121 a” x-
morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”c/398|���/����������/��
x-morph=”OSHM:HC/Vqw1cp/Sp3ms” x-cantillationLevel=”1” ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqw1cs” ”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.1.1.0” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/312|������/�� x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.1.1”
”strong=”5414|������� x-morph=”OSHM:HVqv2fs” ”strong=”853|��� x-
morph=”OSHM:HTo”���/������|strong=”1121 a” x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”0.1.0” ”strong=”c/398|����/���������/�� x-morph=”OSHM:HC/Vqi1cp/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/2244|����������/�� x-morph=”OSHM:HC/Vhw3fs”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”1121
a” x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0”� 30 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”k/8085|��������/�� x-morph=”OSHM:HR/Vqc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”1697” x-
morph=”OSHM:HNcmpc” ”strong=”d/802|��������/��� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1.0” ”strong=”c/7167|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”899 b”
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” x-cantillationLevel=”1.0” strong=”5674|������
a” x-morph=”OSHM:HVqrmsa” strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/2346”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/Vqw3ms” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
”strong=”d/8242|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��/���������|strong=”1320”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0” strong=”m/1004|�������/��
b” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� 31 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1” ”strong=”3541|�����
x-morph=”OSHM:HD”���������|strong=”6213 a” x-morph=”OSHM:HVqj3ms”�/�����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
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x-cantillationLevel=”1.0” ”strong=”c/3541|����/�� x-morph=”OSHM:HC/D”
”strong=”3254|������� x-morph=”OSHM:HVhj3ms” x-cantillationLevel=”1”
strong=”518|���� a” x-morph=”OSHM:HC”���������|strong=”5975”
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0.0.0” strong=”7218|������
a” x-morph=”OSHM:HNcmsc” ”strong=”477|���������� x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”8202”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 32 ”strong=”c/477|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.0” ”strong=”3427|�������
x-morph=”OSHM:HVqrmsa” strong=”b/1004|��/�����/��� b” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/d/2205|����������/��/�� x-morph=”OSHM:HC/Td/Aampa”
x-cantillationLevel=”1.0” ”strong=”3427|���������� x-morph=”OSHM:HVqrmpa”
”strong=”854|��/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.3.0” ”strong=”m/l/6440|�/������/���/��
x-morph=”OSHM:HR/R/Ncbpc/Sp3ms” x-cantillationLevel=”0.2.3” ”strong=”b/2962|������/���
x-morph=”OSHM:HR/D” ”strong=”935|������ x-morph=”OSHM:HVqi3ms”
”strong=”d/4397|����������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.2.2.1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” x-cantillationLevel=”0.2.2.0” � ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”413|��� x-morph=”OSHM:HR”����������/���|strong=”d/2205”
x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”0.2.2” ”strong=”i/7200|����������/��
x-morph=”OSHM:HTi/Vqp2mp” x-cantillationLevel=”0.2.1” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”7971” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.2.0.0” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������/����|strong=”d/7523”
x-morph=”OSHM:HTd/Vprmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0.2.0” ”strong=”l/5493|�������/�� x-morph=”OSHM:HR/Vhc”
”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”7218 a”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.2” ”strong=”7200|������
x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”0.1.2.0” � ”strong=”k/935|����/���
x-morph=”OSHM:HR/Vqc” ”strong=”d/4397|����������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.2” ”strong=”5462|�������� x-morph=”OSHM:HVqv2mp”
strong=”d/1817|��������/�� c” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1.1”
”strong=”c/3905|�����������/�� x-morph=”OSHM:HC/Vqq2mp” ”strong=”853|���/���
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0.1.0” strong=”b/1817|�������/���
c” x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” x-cantillationLevel=”0.0.1” strong=”6963|�����
a” x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0.0” ”strong=”7272|��������
x-morph=”OSHM:HNcfdc” ”strong=”113|�/�������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.0” strong=”310|�/�������� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 33 ”strong=”5750|�����/������ x-morph=”OSHM:HD/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”1696|��������� x-morph=”OSHM:HVprmsa”
strong=”5973|�/������ a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1”
”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm” ”strong=”d/4397|����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”3381|������
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x-morph=”OSHM:HVqrmsa” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.1” ”strong=”2009|������� x-morph=”OSHM:HTm”������|strong=”2063”
x-morph=”OSHM:HPdxfs” strong=”d/7451|������/��� c” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1.0” ”strong=”m/854|����/�� x-morph=”OSHM:HR/R”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”4100|���� x-morph=”OSHM:HTi”���������|strong=”3176” x-
morph=”OSHM:HVhi1cs” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.0” ”strong=”5750|����� x-morph=”OSHM:HD” x-
cantillationLevel=”0”� �7 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”477|����������

x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”8085|���������
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x-cantillationLevel=”1.2.0” ”strong=”853|���� x-morph=”OSHM:HTo” strong=”834|������
a” x-morph=”OSHM:HTr”���������|strong=”2421” x-morph=”OSHM:HVhp3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�����/���|strong=”d/4191” x-
morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.2” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”d/802|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”2421”
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”���/������|strong=”1121
a” x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1.1.0” ”strong=”6817|��������
x-morph=”OSHM:HVqrfsa” ”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”5921|���
a” x-morph=”OSHM:HR”��/��������|strong=”1004 b” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”1.0” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”��/�������|strong=”7704
b” x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1522|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.0” ”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2”
”strong=”2063|����� x-morph=”OSHM:HPdxfs” x-cantillationLevel=”0.1.0”
27 We read one or more accents in L differently than BHS. Often this notation
indicates a typographical error in BHS. ”strong=”d/802|��������/��� x-
morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1” ”strong=”c/2088|���/��
x-morph=”OSHM:HC/Pdxms”��/�������|strong=”1121 a” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0.0” strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”2421”
x-morph=”OSHM:HVhp3ms” ”strong=”477|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 6 ”strong=”c/7592|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0”
”strong=”l/802|��������/�� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0”
strong=”c/5608|���������/�� a” x-morph=”OSHM:HC/Vpw3fs”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1” ”strong=”c/5414|�������/��
x-morph=”OSHM:HC/Vqw3ms”��/����|strong=”l” x-morph=”OSHM:HR/Sp3fs”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”5631|�������
x-morph=”OSHM:HNcmsa” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.1.2.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1.2” ”strong=”7725|�������� x-morph=”OSHM:HVhv2ms”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”�������|strong=”834
a” x-morph=”OSHM:HTr”���/���|strong=”l” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.1.1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”0.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�����������|strong=”8393”
x-morph=”OSHM:HNcfpc” strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”m/3117|������/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0.0” strong=”5800|�������� a” x-morph=”OSHM:HVqp3fs”
27c
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”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/776” x-
morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”c/5704|���/��
x-morph=”OSHM:HC/R”��������|strong=”6258” x-morph=”OSHM:HD”
x-cantillationLevel=”0”� � 7 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”477|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”1834|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”+strong=”c/1130|���/�� x-morph=”OSHM:HC/Np”�������|strong=”1130”
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”�������|strong=”758”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”2470|������ a”
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1” ”strong=”c/5046|�������/��
x-morph=”OSHM:HC/VHw3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1”
”strong=”935|����� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.0”
”strong=”376|������ x-morph=”OSHM:HNcmsc” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”2008” x-morph=”OSHM:HD” x-
cantillationLevel=”0”� 8 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.0”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”2371” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2.1” ”strong=”3947|���� x-
morph=”OSHM:HVqv2ms” ”strong=”b/3027|���/�����/��� x-morph=”OSHM:HR/Ncbsc/Sp2ms”
x-cantillationLevel=”1.2.0” ”strong=”4503|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2” ”strong=”c/3212|�����/�� x-morph=”OSHM:HC/Vqv2ms”
x-cantillationLevel=”1.1” ”strong=”l/7125|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsc”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”c/1875|�����������/�� x-morph=”OSHM:HC/Vqq2ms” 28We
read one or more accents in L differently than BHS. Often this notation indicates
a typographical error in BHS. ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”m/853|���/����/��� x-morph=”OSHM:HR/To/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1” ”strong=”i/2421|��������/�� x-morph=”OSHM:HTi/Vqi1cs”
x-cantillationLevel=”0.0” ”strong=”m/2483|������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”2088|���� x-morph=”OSHM:HPdxms” x-cantillationLevel=”0”�
9 ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”2371|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”l/7125|���/������/��
x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”1.2” ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”4503|�������� x-morph=”OSHM:HNcfsa”
”strong=”b/3027|���/���/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”������|strong=”2898”
x-morph=”OSHM:HNcmsc” ”strong=”1834|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”4853|�������� a” x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” ”strong=”705|������������ x-morph=”OSHM:HAcbpa”
”strong=”1581|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
28c
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”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.2.0”
”strong=”c/5975|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l/6440|�/������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”0.2” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1.2” strong=”1121|���/�����
a” x-morph=”OSHM:HNcmsc/Sp2ms” 29We read one or more accents in L dif-
ferently than BHS. Often this notation indicates a typographical error in BHS.
”+strong=”1130|��� x-morph=”OSHM:HNp”�������|strong=”1130” x-
morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”�������|strong=”758”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”7971|���/��������
x-morph=”OSHM:HVqp3ms/Sp1cs” ”strong=”413|���/������ x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1” ”strong=”i/2421|��������/�� x-morph=”OSHM:HTi/Vqi1cs”
x-cantillationLevel=”0.0” ”strong=”m/2483|������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”2088|���� x-morph=”OSHM:HPdxms” x-cantillationLevel=”0”�
10 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��/�����
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”477|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”3212|����� x-
morph=”OSHM:HVqv2ms” ”strong=”559|����� x-morph=”OSHM:HVqv2ms”���|strong=”3808”
x-morph=”OSHM:HTn” x-wType=”x-ketiv” 30 ”strong=”2421|������ x-
morph=”OSHM:HVqa” ”strong=”2421|�������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1” ”strong=”c/7200|���/�������/�� x-morph=”OSHM:HC/Vhp3ms/Sp1cs”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”3588|����� a” x-morph=”OSHM:HC”������|strong=”4191” x-
morph=”OSHM:HVqa” ”strong=”4191|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 11 ”strong=”c/5975|���������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”6440” x-
morph=”OSHM:HNcbpc/Sp3ms” x-cantillationLevel=”1.0” strong=”c/7760|��������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”954”
x-morph=”OSHM:HVqc” x-cantillationLevel=”1” ”strong=”c/1058|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0” ”strong=”376|������
x-morph=”OSHM:HNcmsc” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 12 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”2371|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”4069|��������� x-morph=”OSHM:HTi” x-cantillationLevel=”1.0”
”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”1058|������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.2.2.2” strong=”3588|�����
a” x-morph=”OSHM:HC”������������|strong=”3045” x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.2.2.1” ”strong=”853|���� x-morph=”OSHM:HTo” strong=”834|������
a” x-morph=”OSHM:HTr”�����������|strong=”6213 a” x-morph=”OSHM:HVqi2ms”
strong=”l/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.2.0” strong=”7451|������
c” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2.2” ”strong=”4013|����/���������

29c
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x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0.2.1.0” ”strong=”7971|�����������
x-morph=”OSHM:HVpi2ms” ”strong=”b/784|�����/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0.2.1” ”strong=”c/970|����/��������/�� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.2.0” ”strong=”b/2719|������/��� x-morph=”OSHM:HRd/Ncfsa”
”strong=”2026|��������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0.2”
”strong=”c/5768|����/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
”strong=”7376|����������� x-morph=”OSHM:HVpi2ms” x-cantillationLevel=”0.1”
strong=”c/2030|����/�������/�� a” x-morph=”OSHM:HC/Aafpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”1234|����������� x-morph=”OSHM:HVpi2ms”
x-cantillationLevel=”0”� 13 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”2371|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.3”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”4100|���� x-morph=”OSHM:HTi”
”strong=”5650|���/������� x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.2.0”
”strong=”d/3611|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”6213|���������
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1” ”strong=”d/1697|�������/��
x-morph=”OSHM:HTd/Ncmsa” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1.0” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”477|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”7200|���/������� x-morph=”OSHM:HVhp3ms/Sp1cs” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”853|���/����
x-morph=”OSHM:HTo/Sp2ms” x-cantillationLevel=”0.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsa” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”758”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 14 ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.1.0” � ”strong=”m/854|����/��
x-morph=”OSHM:HR/R” ”strong=”477|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”�/���������|strong=”113”
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.2” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”4100|���� x-morph=”OSHM:HTi”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”477|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0” ”strong=”2421|������
x-morph=”OSHM:HVqa” ”strong=”2421|�������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0”� 15 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”m/4283|���������/��� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.1.1”
”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4346|����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”c/2881|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”b/4325|�������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”c/6566|����������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”5921|��� a” x-morph=”OSHM:HR”�/��������|strong=”6440”
x-morph=”OSHM:HNcbpc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/4191|�������/��
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x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1” strong=”c/4427|����������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”2371|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”8478|�/���������� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� � 16 ”strong=”c/b/8141|�������/��/�� x-morph=”OSHM:HC/R/Ncfsc”
”strong=”2568|������� x-morph=”OSHM:HAcfsa” x-cantillationLevel=”1.1.1”
”strong=”l/3141|�������/�� x-morph=”OSHM:HR/Np” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”���������|strong=”256” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/3092|�����������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0”
”strong=”4428|������� x-morph=”OSHM:HNcmsc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”4427|������� a”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.0” ”strong=”3088|���������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������������|strong=”3092”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 17 strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”7970”
x-morph=”OSHM:HAcbpa” ”strong=”c/8147|����������/�� x-morph=”OSHM:HC/Acfda”
x-cantillationLevel=”1.0.0” ”strong=”8141|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
strong=”b/4427|��/������/�� a” x-morph=”OSHM:HR/Vqc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/8083|���������/�� x-morph=”OSHM:HC/Acfsa”
”strong=”8141|��� x-morph=”OSHM:HNcfsa” x-wType=”x-ketiv” 31 strong=”4427|�������
a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 18 ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.1.1” ”strong=”b/1870|�������/���
x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”1.2.1.0” � ”strong=”4428|��������
x-morph=”OSHM:HNcmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
strong=”6213|������� a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.2.0”
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x-cantillationLevel=”0.1.1” strong=”6485|�������� a” x-morph=”OSHM:HVqv2mp”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”0.1.0.0” ”strong=”853|��� x-
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35+ ”strong=”8058|��/�����������/��� x-morph=”OSHM:HVqv2mp/Sp3fs” x-
cantillationLevel=”1.0”
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cantillationLevel=”1.0.1.0”
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x-morph=”OSHM:HR/Ncbsc” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/�����|strong=”5030”
x-morph=”OSHM:HNcmsc/Sp3ms” x-wType=”x-ketiv” 84 ”strong=”3605|���
x-morph=”OSHM:HNcmsc”�������|strong=”2374” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.2.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2.2” ”strong=”7725|�������� x-morph=”OSHM:HVqv2mp”
”strong=”m/1870|����/��������/�� x-morph=”OSHM:HR/Ncbpc/Sp2mp”
strong=”d/7451|�������/��� a” x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1.2.1”
”strong=”c/8104|���������/�� x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”1.2.0”
”strong=”4687|�/��������� x-morph=”OSHM:HNcfpc/Sp1cs” ”strong=”2708|�/���������
x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”1.2” ”strong=”k/3605|����/���
x-morph=”OSHM:HR/Ncmsc”��������/���|strong=”d/8451” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6680|���������� x-morph=”OSHM:HVpp1cs” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”����/���������|strong=”1”
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1” strong=”c/834|�������/���
a” x-morph=”OSHM:HC/Tr” x-cantillationLevel=”0.1.0” ”strong=”7971|������������
x-morph=”OSHM:HVqp1cs” ”strong=”413|����/����� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc”
x-cantillationLevel=”0.0” ”strong=”5650|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”d/5030|�����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
14 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” x-cantillationLevel=”1.0”
”strong=”8085|��������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1”
”strong=”c/7185|����������/�� x-morph=”OSHM:HC/Vhw3mp” ”strong=”853|���
x-morph=”OSHM:HTo”��/��������|strong=”6203” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.2.0” ”strong=”k/6203|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”1|�/�������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0.2”
strong=”834|������� a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”539|�����������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”0.1” ”strong=”b/3068|������/����
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0” ”strong=”430|����/�������
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0”� 15 strong=”c/3988|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” ”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”2706”
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.2.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”���/��������|strong=”1285” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.2.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3772|������� x-morph=”OSHM:HVqp3ms” ”strong=”854|���
x-morph=”OSHM:HR”�/���������|strong=”1” x-morph=”OSHM:HNcmpc/Sp3mp”
84+ ”strong=”5030|����������/���� x-morph=”OSHM:HNcmpc”
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x-cantillationLevel=”1.2” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”1.1.0” ”strong=”5715|�/����������� x-morph=”OSHM:HNcfpc/Sp3ms”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”5749|������� b” x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”1.0”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
”strong=”c/3212|����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.3.0.0”
85 We read one or more accents in L differently than BHS. Often this nota-
tion indicates a typographical error in BHS. strong=”310|�������� a” x-
morph=”OSHM:HR” ”strong=”d/1892|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.3.0” ”strong=”c/1891|������������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.3” strong=”c/310|��������/�� a” x-morph=”OSHM:HC/R”
strong=”d/1471|��������/�� a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.2.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”5439|�/�����������
x-morph=”OSHM:HNcbpc/Sp3mp” x-cantillationLevel=”0.2” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”6680|������� x-morph=”OSHM:HVpp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.1”
”strong=”l/1115|���������/�� x-morph=”OSHM:HR/C” x-cantillationLevel=”0.0”
strong=”6213|�������� a” x-morph=”OSHM:HVqc” ”strong=”k|����/���
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� 16 strong=”c/5800|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”���������|strong=”4687”
x-morph=”OSHM:HNcfpc” x-cantillationLevel=”1.1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.1” strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqw3mp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0.0”
strong=”4541|��������� a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
”strong=”8147|���� x-morph=”OSHM:HAcmda” x-wType=”x-ketiv” 86 ”strong=”5695|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” strong=”c/6213|����������/��
a” x-morph=”OSHM:HC/Vqw3mp” ”strong=”842|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.1” ”strong=”c/7812|����������������/�� x-
morph=”OSHM:HC/Vtw3mp” x-cantillationLevel=”0.1.0” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”�������|strong=”6635 a” x-morph=”OSHM:HNcbsc”
”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1”
”strong=”c/5647|�����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1168
a” x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”� 17 strong=”c/5674|�����������/����
a” x-morph=”OSHM:HC/Vhw3mp” x-cantillationLevel=”1.1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/�������|strong=”1121 a” x-morph=”OSHM:HNcmpc/Sp3mp”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����/�����������|strong=”1323”
x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”b/784|�����/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1” ”strong=”c/7080|�����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”7081|��������� x-morph=”OSHM:HNcmpa”

85c
86+ ”strong=”8147|����������� x-morph=”OSHM:HAcmdc”
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x-cantillationLevel=”1.0” ”strong=”c/5172|�����������/�� x-morph=”OSHM:HC/Vpw3mp”
x-cantillationLevel=”1” ”strong=”c/4376|���������������/�� x-morph=”OSHM:HC/Vtw3mp”
x-cantillationLevel=”0.0.1” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
strong=”d/7451|����/�� a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.0.0”
strong=”b/5869|�������/��� a” x-morph=”OSHM:HR/Ncbdc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/3707|��/���������/��
x-morph=”OSHM:HR/Vhc/Sp3ms” x-cantillationLevel=”0”� 18 ”strong=”c/599|������������/��
x-morph=”OSHM:HC/Vtw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”3966|������ x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0”
”strong=”b/3478|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
”strong=”c/5493|�/�������/�� x-morph=”OSHM:HC/Vhw3ms/Sp3mp”
x-cantillationLevel=”1.0” strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
”strong=”6440|�/������� x-morph=”OSHM:HNcbpc/Sp3ms” x-cantillationLevel=”1”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”7604|���������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.1” ”strong=”7535|����
x-morph=”OSHM:HTa” x-cantillationLevel=”0.0.0” ”strong=”7626|�������
x-morph=”OSHM:HNcmsc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”l/905|��/�����/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 19 ”strong=”1571|���� x-morph=”OSHM:HTa”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”8104|������� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”4687”
x-morph=”OSHM:HNcfpc” x-cantillationLevel=”1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3212|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.1” ”strong=”b/2708|��������/��� x-morph=”OSHM:HR/Ncbpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”6213|�������
a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0”� 20 strong=”c/3988|���������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�������|strong=”2233”
x-morph=”OSHM:HNcmsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” strong=”c/6031|�/��������/�� b” x-morph=”OSHM:HC/Vpw3ms/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/5414|�/���������/��� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”b/3027|���/��� x-morph=”OSHM:HR/Ncbsc”���������|strong=”8154”
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1” ”strong=”5704|����
x-morph=”OSHM:HR” x-cantillationLevel=”0.0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7993|�/����������� x-morph=”OSHM:HVhp3ms/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”m/6440|�/�������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0”� 21 strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”7167”
x-morph=”OSHM:HVqp3ms” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
x-cantillationLevel=”1.1.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”1732|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”c/4427|������������/�� a” x-morph=”OSHM:HC/Vhw3mp” x-
cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”3379”
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x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������|strong=”5028”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”c/5077|���/� a”
x-morph=”OSHM:HC/Vhw3ms” x-wType=”x-ketiv” 87 ”strong=”3379|����������
x-morph=”OSHM:HNp” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”m/310|��������/��
a” x-morph=”OSHM:HR/R” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/2398|�/����������/�� x-morph=”OSHM:HC/Vhp3ms/Sp3mp”
x-cantillationLevel=”0.0” 88 BHS has been faithful to the Leningrad Codex
where there might be a question of the validity of the form and we keep the
same form as BHS. ”strong=”2401|�������� x-morph=”OSHM:HNcfsa”
strong=”1419|��������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0”�
22 ”strong=”c/3212|����������/�� x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1.1.0” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”����������|strong=”2403
b” x-morph=”OSHM:HNcfpc” ”strong=”3379|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1”
”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”5493” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� 23 ”strong=”5704|���� x-morph=”OSHM:HR” x-
cantillationLevel=”1.2.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”5493”
x-morph=”OSHM:HVhp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”6440|�/������� x-morph=”OSHM:HNcbpc/Sp3ms”
x-cantillationLevel=”1.2” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
”strong=”1696|�������� x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.1”
”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/���������|strong=”5650”
x-morph=”OSHM:HNcmpc/Sp3ms” ”strong=”d/5030|�����������/�� x-
morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” ”strong=”c/1540|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0.0” strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
”strong=”127|���/������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”804|�/���������� x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”0.1”
”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0”� � 24 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”4428|������� x-morph=”OSHM:HNcmsc”����������|strong=”804”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0.2” ”strong=”m/894|�������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2.0.1” ”strong=”c/m/3575|�/�������/��/���
x-morph=”OSHM:HC/R/Np/Sd” x-cantillationLevel=”1.2.0.0” ”strong=”c/m/5755|�������/��/��

87+ ”strong=”c/5080|��������/�����/� x-morph=”OSHM:HC/Vhw3ms”
881
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x-morph=”OSHM:HC/R/Np” ”strong=”c/m/2574|������/���/�� x-morph=”OSHM:HC/R/Np”
x-cantillationLevel=”1.2.0” ”strong=”c/5617|������������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.2” ”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vhw3ms”
x-cantillationLevel=”1.1.0” strong=”b/5892|������/��� b” x-morph=”OSHM:HR/Ncfpc”
”strong=”8111|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”8478|������� x-morph=”OSHM:HR” x-cantillationLevel=”1.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3423|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”8111” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/3427|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” strong=”b/5892|��/������/��� b” x-morph=”OSHM:HR/Ncfpc/Sp3fs”
x-cantillationLevel=”0”� 25 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1” ”strong=”b/8462|���������/��� x-morph=”OSHM:HR/Ncfsc”
x-cantillationLevel=”1.1.0” ”strong=”3427|�/��������� x-morph=”OSHM:HVqc/Sp3mp”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3372|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������/����|strong=”d/738
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/1961|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”2026|��������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”0.0” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 26 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.3.1” ”strong=”l/4428|�������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”804|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.3.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.3”
strong=”d/1471|��������/�� a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.2”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1540|�����������
x-morph=”OSHM:HVhp2ms” x-cantillationLevel=”1.2.1” ”strong=”c/3427|����������/��
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a” x-morph=”OSHM:HR”����������/���|strong=”d/376” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.1.1” ”strong=”d/3427|������������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”0.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”������/����|strong=”d/2346”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1” ”strong=”l/398|������/��
x-morph=”OSHM:HR/Vqc” ”strong=”853|��� x-morph=”OSHM:HTo” 91
BHS has been faithful to the Leningrad Codex where there might be a question
of the validity of the form andwe keep the same form as BHS. ”strong=”2755|��/���
x-morph=”OSHM:HNcmpc/Sp3mp” x-wType=”x-ketiv” 92 ”strong=”c/l/8354|���������/��/��
x-morph=”OSHM:HC/R/Vqc” x-cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/�����|strong=”7890” x-morph=”OSHM:HNcmpc/Sp3mp”
x-wType=”x-ketiv” 93 94 95 strong=”5973|����/����� a” x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0”� 28 ”strong=”c/5975|���������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”+strong=”7262|��� x-morph=”OSHM:HNcmsc”��������|strong=”7262”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/7121|���������/��
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x-morph=”OSHM:HC/Vpw3ms” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1” ”strong=”8085|��������� x-morph=”OSHM:HVqv2mp”
x-cantillationLevel=”0.0.0” ”strong=”1697|������ x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”804|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
29 ”strong=”3541|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”d/4428|��������/��
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”strong=”2396|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”3808” x-morph=”OSHM:HTn”
”strong=”3201|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1”
”strong=”l/5337|��������/�� x-morph=”OSHM:HR/Vhc” ”strong=”853|����/����

911
92+ ”strong=”6675|�/����������/��� x-morph=”OSHM:HNcfsc/Sp3mp” x-
cantillationLevel=”0.0.1”
93+ ”strong=”4325|��������/���� x-morph=”OSHM:HNcmpc”
”strong=”7272|����/������� x-morph=”OSHM:HNcfdc/Sp3mp” x-cantillationLevel=”0.0”
94c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
95n Marks an anomalous form.
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”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0.0”
”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”5576” x-
morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”����������|strong=”804”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”8085|������������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0”� 21 ”strong=”2088|����
x-morph=”OSHM:HPdxms” ”strong=”d/1697|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”1696”
x-morph=”OSHM:HVpp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”959|������� x-morph=”OSHM:HVqp3fs”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.2.1.0”
”strong=”3932|�������� x-morph=”OSHM:HVqp3fs” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.2.1” ”strong=”1330|����������
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.2.0” ”strong=”1323|����
x-morph=”OSHM:HNcfsc”���������|strong=”6726” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2” strong=”310|���/�������� a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1.0” strong=”7218|������ a” x-morph=”OSHM:HNcmsa”
”strong=”5128|��������� x-morph=”OSHM:HVhp3fs” x-cantillationLevel=”0.1”
”strong=”1323|����� x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
22 ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”4310” x-morph=”OSHM:HTi”
strong=”2778|����������� a” x-morph=”OSHM:HVpp2ms” x-cantillationLevel=”1.1.0”
”strong=”c/1442|�����������/�� x-morph=”OSHM:HC/Vpp2ms” x-cantillationLevel=”1.1”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�����|strong=”4310”
x-morph=”OSHM:HTi” x-cantillationLevel=”1.0” strong=”7311|�����������
a” x-morph=”OSHM:HVhp2ms” strong=”6963|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/5375|���������/�� x-morph=”OSHM:HC/Vqw2ms”
”strong=”4791|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0”
strong=”5869|��/������� a” x-morph=”OSHM:HNcbdc/Sp2ms” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”6918” x-
morph=”OSHM:HAamsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”0”� 23 ”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc”
”strong=”4397|���/��������� x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.1.0”
strong=”2778|���������� a” x-morph=”OSHM:HVpp2ms” x-cantillationLevel=”1.0”
� ”strong=”136|��/������ x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw2ms” x-cantillationLevel=”1.0.2”
”strong=”b/7393|���/� x-morph=”OSHM:HR/Ncmsc” x-wType=”x-ketiv”
97 ”strong=”7393|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0.1”
”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”5927|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0.0” ”strong=”4791|�������
x-morph=”OSHM:HNcmsc” ”strong=”2022|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”3411|����������� x-morph=”OSHM:HNcfdc”
”strong=”3844|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/3772|��������/�� x-morph=”OSHM:HC/Vqi1cs” x-cantillationLevel=”0.2.0.0”
”strong=”6967|������� x-morph=”OSHM:HNcfsc” ”strong=”730|��/�������
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.2.0” ”strong=”4005|���������
x-morph=”OSHM:HNcmsc” ”strong=”1265|�/���������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”c/935|����������/�� x-morph=”OSHM:HC/Vqh1cs”
x-cantillationLevel=”0.1.0” ”strong=”4411|������� x-morph=”OSHM:HNcmsc”
”strong=”7093|�/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1”
98 We have abandoned or added a ketib/qere relative to BHS. In doing this we
agree with L against BHS. strong=”3293|������ a” x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”3759|��/���������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 24 ”strong=”589|������ x-morph=”OSHM:HPp1cs”
strong=”6979|��������� a” x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1”
”strong=”c/8354|����������/�� x-morph=”OSHM:HC/Vqp1cs” x-cantillationLevel=”1.0”
”strong=”4325|������ x-morph=”OSHM:HNcmpa” strong=”2114|�������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1” strong=”c/2717|��������/��
a” x-morph=”OSHM:HC/Vhi1cs” x-cantillationLevel=”0.1.0” ”strong=”b/3709|���/���
x-morph=”OSHM:HR/Ncfsc”�/���������|strong=”6471” x-morph=”OSHM:HNcfpc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”2975|�������� x-morph=”OSHM:HNcmpc”
”strong=”4693|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
25 ”strong=”i/3808|����/�� x-morph=”OSHM:HTi/Tn”������������|strong=”8085”
x-morph=”OSHM:HVqp2ms” ”strong=”l/m/7350|�������/���/�� x-morph=”OSHM:HR/R/Aamsa”
x-cantillationLevel=”1.1.0” ”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3fs”
strong=”6213|���������� a” x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1”
”strong=”l/m/3117|����/���/�� x-morph=”OSHM:HR/R/Ncmpc” strong=”6924|������
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”c/3335|��/����������/���
x-morph=”OSHM:HC/Vqp1cs/Sp3fs” x-cantillationLevel=”1” ”strong=”6258|�������
x-morph=”OSHM:HD” ”strong=”935|��/���������� x-morph=”OSHM:HVhp1cs/Sp3fs”
x-cantillationLevel=”0.0.2” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqi2ms”
x-cantillationLevel=”0.0.1” ”strong=”l/7582|��������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”0.0.0” ”strong=”1530|��������� x-morph=”OSHM:HNcmpa”

97+ ”strong=”b/7230|����/������/� x-morph=”OSHM:HR/Ncbsc”
98q
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strong=”5327|�������� b” x-morph=”OSHM:HVNrmpa” x-cantillationLevel=”0.0”
strong=”5892|������� b” x-morph=”OSHM:HNcfpa” ”strong=”1219|����������
x-morph=”OSHM:HAafpa” x-cantillationLevel=”0”� 26 ”strong=”c/3427|����/���������/��
x-morph=”OSHM:HC/Vqrmpc/Sp3fp” x-cantillationLevel=”1.1.0” ”strong=”7116|�������
x-morph=”OSHM:HAampc”�����|strong=”3027” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” ”strong=”2865|������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”c/954|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1” ”strong=”1961|������ x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.2.0.0” ”strong=”6212|������� x-morph=”OSHM:HNcmsc”
strong=”7704|������� b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.0”
”strong=”c/3419|����/��� x-morph=”OSHM:HC/Ncmsc” ”strong=”1877|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2” strong=”2682|�������
a” x-morph=”OSHM:HNcmsc” ”strong=”1406|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1” strong=”c/7711|���������/�� a” x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”7054|������ x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
27 ”strong=”c/3427|���/��������/�� x-morph=”OSHM:HC/Vqc/Sp2ms”
x-cantillationLevel=”1.0.0” ”strong=”c/3318|���/�����/�� x-morph=”OSHM:HC/Vqc/Sp2ms”
”strong=”c/935|���/����/�� x-morph=”OSHM:HC/Vqc/Sp2ms” x-cantillationLevel=”1.0”
”strong=”3045|����������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To” x-cantillationLevel=”0.0”
”strong=”7264|���/������������ x-morph=”OSHM:HVtc/Sp2ms” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 28 ”strong=”3282|������
x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0” ”strong=”7264|���/�����������
x-morph=”OSHM:HVtc/Sp2ms” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”c/7600|���/���������/�� x-morph=”OSHM:HC/Aamsc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”5927|������ x-morph=”OSHM:HVqp3ms”
”strong=”b/241|�/�������/�� x-morph=”OSHM:HR/Ncfdc/Sp1cs” x-cantillationLevel=”1”
strong=”c/7760|����������/�� a” x-morph=”OSHM:HC/Vqq1cs” ”strong=”2397|�/�����
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.2.1.0” ”strong=”b/639|��/������/���
x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-cantillationLevel=”0.2.1” ”strong=”c/4964|��/�������/��
x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-cantillationLevel=”0.2.0” ”strong=”b/8193|��/���������/���
x-morph=”OSHM:HR/Ncfdc/Sp2ms” x-cantillationLevel=”0.2” ”strong=”c/7725|��/������������/��
x-morph=”OSHM:HC/Vhq1cs/Sp2ms” x-cantillationLevel=”0.1” ”strong=”b/1870|��������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.0” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”935” x-morph=”OSHM:HVqp2ms”
”strong=”b|��/���� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”�
29 ”strong=”c/2088|���/�� x-morph=”OSHM:HC/Pdxms”���/����|strong=”l”
x-morph=”OSHM:HR/Sp2ms” ”strong=”d/226|�����/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.2” ”strong=”398|������� x-morph=”OSHM:HVqa”
”strong=”d/8141|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0”
strong=”5599|�������� b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”c/b/8141|��������/��/�� x-morph=”OSHM:HC/Rd/Ncfsa” ”strong=”d/8145|���������/��
x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”1.0” ”strong=”7823|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/b/8141|��������/��/��
x-morph=”OSHM:HC/Rd/Ncfsa” ”strong=”d/7992|�������������/�� x-
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morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”0.0.1” ”strong=”2232|��������
x-morph=”OSHM:HVqv2mp” strong=”c/7114|��������/�� b” x-morph=”OSHM:HC/Vqv2mp”
x-cantillationLevel=”0.0.0” ”strong=”c/5193|��������/�� x-morph=”OSHM:HC/Vqv2mp”
”strong=”3754|��������� x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.0”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqv2mp” ”strong=”6529|�/�������
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0”� 30 ”strong=”c/3254|���������/��
x-morph=”OSHM:HC/Vqp3fs” x-cantillationLevel=”1.0.0.0” ”strong=”6413|����������
x-morph=”OSHM:HNcfsc” strong=”1004|����� b” x-morph=”OSHM:HNcmsc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”d/7604|������������/��
x-morph=”OSHM:HTd/VNrfsa” x-cantillationLevel=”1.0” ”strong=”8328|��������
x-morph=”OSHM:HNcmsa” ”strong=”l/4295|�������/�� x-morph=”OSHM:HR/D”
x-cantillationLevel=”1” strong=”c/6213|�������/�� a” x-morph=”OSHM:HC/Vqq3ms”
”strong=”6529|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”l/4605|�/�������/�� x-morph=”OSHM:HR/D/Sd” x-cantillationLevel=”0”�
31 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”m/3389|�������������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0” ”strong=”3318|�������
x-morph=”OSHM:HVqi3fs” ”strong=”7611|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”c/6413|���������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”m/2022|����/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”6726|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”7068|�������� x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0.0”
”strong=”3068|������� x-morph=”OSHM:HNp” 99 100 Adaptations to a
Qere which L and BHS, by their design, do not indicate. strong=”6213|����������
a” x-morph=”OSHM:HVqi3fs”�������|strong=”2063” x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”0”� � 32 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.2.1” ”strong=”3541|����� x-morph=”OSHM:HD”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4428”
x-morph=”OSHM:HNcmsc” ”strong=”804|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”935|������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�����/���|strong=”d/5892 b” x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”��������|strong=”3384
b” x-morph=”OSHM:HVhi3ms” ”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.0” ”strong=”2671|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”����/�����������|strong=”6923”
x-morph=”OSHM:HVpi3ms/Sp3fs” ”strong=”4043|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”������������|strong=”8210”
x-morph=”OSHM:HVqi3ms” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”5550|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 33 ”strong=”b/1870|��������/��� x-morph=”OSHM:HRd/Ncbsa”
strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”935” x-

99+ strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.0”
100a
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morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” ”strong=”b|��/����
x-morph=”OSHM:HR/Sp3fs” ”strong=”7725|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” ”strong=”c/413|���/�� x-morph=”OSHM:HC/R”�����/���|strong=”d/5892
b” x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
x-cantillationLevel=”0.0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”935|������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 34 ”strong=”c/1598|����������/�� x-morph=”OSHM:HC/Vqq1cs”
x-cantillationLevel=”1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”�����/���|strong=”d/5892
b” x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
x-cantillationLevel=”1.0” ”strong=”l/3467|��/�����������/�� x-morph=”OSHM:HR/Vhc/Sp3fs”
x-cantillationLevel=”1” ”strong=”4616|�/���������� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”c/4616|��������/�� x-morph=”OSHM:HC/R”
x-cantillationLevel=”0.0” ”strong=”1732|������� x-morph=”OSHM:HNp”
”strong=”5650|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”�
35 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.0”
”strong=”b/3915|���������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.2” ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1.0” � ”strong=”4397|���������
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”c/5221|������/�� x-morph=”OSHM:HC/Vhw3ms”
x-cantillationLevel=”1.1.0” ”strong=”b/4264|��������/��� x-morph=”OSHM:HR/Ncbsc”
”strong=”804|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”3967|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0.0”
”strong=”8084|����������� x-morph=”OSHM:HAcbpa” ”strong=”c/2568|����������/��
x-morph=”OSHM:HC/Acmsa” x-cantillationLevel=”1.0” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1” ”strong=”c/7925|��������������/��
x-morph=”OSHM:HC/Vhw3mp” ”strong=”b/1242|�������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
”strong=”3605|�/������ x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.0”
”strong=”6297|���������� x-morph=”OSHM:HNcmpa” ”strong=”4191|�������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0”� 36 ”strong=”c/5265|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1” ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”5576|����������� x-morph=”OSHM:HNp”
”strong=”4428|������� x-morph=”OSHM:HNcmsc”����������|strong=”804”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0” ”strong=”b/5210|����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 37 ”strong=”c/1961|������/��
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x-cantillationLevel=”0”� 28 ”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms”
”strong=”854|��/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0”
strong=”2896|������� c” x-morph=”OSHM:HAafpa” x-cantillationLevel=”1”
”strong=”c/5414|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”3678”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” x-cantillationLevel=”0.0.1” ”strong=”3678|��������
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x-morph=”OSHM:HNcmsc” ”strong=”d/4428|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”854|��/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”b/894|������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
29 ”strong=”c/8132|��������/�� x-morph=”OSHM:HC/Vpq3ms” x-cantillationLevel=”1.1”
”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”1.0” strong=”899|���������
b” x-morph=”OSHM:HNcmpc” ”strong=”3608|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/398|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”3899|������ x-morph=”OSHM:HNcbsa” ”strong=”8548|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” ”strong=”l/6440|�/������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”3117” x-morph=”OSHM:HNcmpc”
strong=”2416|�/������� e” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0”�
30 ”strong=”c/737|��/��������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”1.0.1” ”strong=”737|�������� x-morph=”OSHM:HNcfsc”
”strong=”8548|�������� x-morph=”OSHM:HNcmsa” ”strong=”5414|��������
x-morph=”OSHM:HVNp3fs”��/����|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0.0” ”strong=”m/854|����/�� x-morph=”OSHM:HR/R”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”1697|������ x-morph=”OSHM:HNcmsc”������|strong=”3117”
x-morph=”OSHM:HNcmsa” ”strong=”b/3117|��/�����/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”3605|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”3117|������ x-morph=”OSHM:HNcmpc”
strong=”2416|�/������ e” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0”�


